Tabulation of Bids

Awarded to:	Date Awarded:	Amount Awarded
Vinton Construction Company 2705 N. Rapids Rd PO Box 1987 Manitowoc, WI 54221	06/01/22	\$2,517,897.89

	Project Manager:	Josh Holbrook	Consultant:	Mead & Hunt
State of Wisconsin	Airport:	Green Bay Austin Straubel International Airport	Bid Date:	4/21/2022
Department of Transportation	Project:	GRB1010, AIP-55 Contract No. 2	Bid Time:	2:00 PM
Bureau of Aeronautics	Bid for:	Rehabilitate Access Roads & Cell Phone Waiting Lot	DBE Goals:	6.21%

	Vinton Construction Co	
DESCRIPTION: BASE BID - Rehabilitate Access Roads & Cell Phone Waiting Lot		

Base Bid

Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
203.0100	REMOVING SMALL PIPE CULVERTS	2	EA	\$250.00	\$500.00		\$0.00		\$0.00
204.0100	REMOVING CONCRETE PAVEMENT	6,156	SY	\$2.00	\$12,312.00		\$0.00		\$0.00
204.0110	REMOVING ASPHALTIC SURFACE	11,540	SY	\$0.01	\$115.40		\$0.00		\$0.00
204.0150	REMOVING CURB & GUTTER	1,968	LF	\$4.00	\$7,872.00		\$0.00		\$0.00
204.0155	REMOVING CONCRETE SIDEWALK	2,485	SY	\$9.00	\$22,365.00		\$0.00		\$0.00
204.0165	REMOVING GUARDRAIL	844	LF	\$5.25	\$4,431.00		\$0.00		\$0.00
204.0170	REMOVING FENCE	523	LF	\$4.00	\$2,092.00		\$0.00		\$0.00
204.0195.S	REMOVING CONCRETE BASES	5	EA	\$200.00	\$1,000.00		\$0.00		\$0.00
204.0240.S	SITE CLEARANCE, SITE NO. 1	1	LS	\$2,000.00	\$2,000.00		\$0.00		\$0.00
205.0100.S	EXCAVATION COMMON	12,227	CY	\$21.82	\$266,793.14		\$0.00		\$0.00
211.0100	PREPARATION FOUNDATION FOR ASPHALTIC PAVING	1	LS	\$25,425.00	\$25,425.00		\$0.00		\$0.00
211.0200	PREPARATION FOUNDATION FOR CONCRETE PAVEMENT	1	LS	\$2,500.00	\$2,500.00		\$0.00		\$0.00
213.0100	FINISHING ROADWAY	9	EA	\$1,000.00	\$9,000.00		\$0.00		\$0.00
305.0120	BASE AGGREGATE DENSE, 1 1/4 INCH	12,016	TON	\$14.90	\$179,038.40		\$0.00		\$0.00
311.0110	BREAKER RUN	11,663	TON	\$14.65	\$170,862.95		\$0.00		\$0.00
415.0080	CONCRETE PAVEMENT 8-INCH	5,483	SY	\$74.25	\$407,112.75		\$0.00		\$0.00
415.1080	CONCRETE PAVEMENT HES 8-INCH	70	SY	\$80.00	\$5,600.00		\$0.00		\$0.00
415.4100	CONCRETE PAVEMENT JOINT FILLING	5,675	SY	\$3.50	\$19,862.50		\$0.00		\$0.00
416.0610	DRILLED TIE BARS	97	EA	\$9.00	\$873.00		\$0.00		\$0.00
416.0620	DRILLED DOWEL BARS	85	EA	\$15.00	\$1,275.00		\$0.00		\$0.00
455.0605	TACK COAT	752	GAL	\$5.60	\$4,211.20		\$0.00		\$0.00
460.2000	INCENTIVE DENSITY HMA PAVEMENT	2,098	DOL	\$1.00	\$2,098.00		\$0.00		\$0.00
460.6223	HMA PAVEMENT 3 MT 58-28 S	1,289	TON	\$102.40	\$131,993.60		\$0.00		\$0.00
460.6424	HMA PAVEMENT 4 MT 58-28 H	1,332	TON	\$108.80	\$144,921.60		\$0.00		\$0.00

521.1217	ADDONIENDWALLS FOR DIDE ADOLLSTEEL 47/42 INCH	2	EA	\$378.00	\$756.00	\$0.00	\$0.00
	APRON ENDWALLS FOR PIPE ARCH STEEL 17x13-INCH						
521.6717	PIPE ARCH CORRUGATED STEEL ALUMINUM COATED 17x13-INCH	62	LF 	\$73.60	\$4,563.20	\$0.00	\$0.00
601.0342	CONCRETE CURB & GUTTER INTEGRAL18-INCH	2,063	LF	\$18.50	\$38,165.50	\$0.00	\$0.00
601.0405	CONCRETE CURB & GUTTER 18-INCH TYPE A	60	LF	\$45.00	\$2,700.00	\$0.00	\$0.00
601.0407	CONCRETE CURB & GUTTER 18-INCH TYPE D	1,667	LF	\$19.70	\$32,839.90	\$0.00	\$0.00
601.0408.S	CONCRETE CURB & GUTTER 18-INCH TYPE D SHORT LENGTHS	180	LF	\$42.00	\$7,560.00	\$0.00	\$0.00
601.0409.S	CONCRETE CURB & GUTTER 30-INCH TYPE A	1,130	LF	\$24.80	\$28,024.00	\$0.00	\$0.00
602.0405	CONCRETE SIDEWALK 4-INCH	22,006	SF	\$5.95	\$130,935.70	\$0.00	\$0.00
602.0420	CONCRETE SIDEWALK 7-INCH	271	SF	\$6.60	\$1,788.60	\$0.00	\$0.00
602.0505	CURB RAMP DETECTABLE WARNING FIELD YELLOW	570	SF	\$33.00	\$18,810.00	\$0.00	\$0.00
608.6006.S	STORM SEWER PIPE AWWA C-900 6-INCH	518	LF	\$66.00	\$34,188.00	\$0.00	\$0.00
608.6008.S	STORM SEWER PIPE AWWA C-900 8-INCH	15	LF	\$89.65	\$1,344.75	\$0.00	\$0.00
608.6012.S	STORM SEWER PIPE AWWA C-900 12-INCH	66	LF	\$136.00	\$8,976.00	\$0.00	\$0.00
611.0420.S	RECONSTRUCTING MANHOLES	6	EA	\$4,300.00	\$25,800.00	\$0.00	\$0.00
611.0666	INLET COVERS TYPE Z	2	EA	\$745.00	\$1,490.00	\$0.00	\$0.00
611.1003	CATCH BASINS 3-FT DIAMETER	2	EA	\$2,450.00	\$4,900.00	\$0.00	\$0.00
611.9705	SALVAGED MANHOLE COVERS	4	EA	\$400.00	\$1,600.00	\$0.00	\$0.00
611.9710	SALVAGED INLET COVERS	7	EA	\$400.00	\$2,800.00	\$0.00	\$0.00
618.0100.S	MAINTENANCE AND REPAIR OF HAUL ROADS	1	EA	\$0.01	\$0.01	\$0.00	\$0.00
619.1000	MOBILIZATION	1	EA	\$249,000.00	\$249,000.00	\$0.00	\$0.00
620.0100	CONCRETE CORRUGATED MEDIAN	500	SF	\$9.75	\$4,875.00	\$0.00	\$0.00
624.0100	WATER	241	MGAL	\$40.00	\$9,640.00	\$0.00	\$0.00
625.0100	TOPSOIL	4,356	SY	\$9.10		\$0.00	
627.0200	MULCHING	4,356	SY	\$1.50	\$39,639.60 \$6,534.00	\$0.00	\$0.00
628.1504	SILT FENCE	2,000	LF	\$2.50	\$5,000.00	\$0.00	\$0.00
628.1520	SILT FENCE MAINTENANCE	1,000	LF	\$1.00	\$1,000.00	\$0.00	\$0.00
628.1905	MOBILIZATIONS EROSION CONTROL	9	EA	\$400.00	\$3,600.00	\$0.00	\$0.00
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	2	EA	\$350.00	\$700.00	\$0.00	\$0.00
628.2002.S	EROSION MAT, CLASS I TYPE A	2,800	SY	\$2.10	\$5,880.00	\$0.00	\$0.00
628.7005	INLET PROTECTION TYPE A	2	EA	\$160.00	\$320.00	\$0.00	\$0.00
628.7015	INLET PROTECTION TYPE C	13	EA	\$70.00	\$910.00	\$0.00	\$0.00
628.7020	INLET PROTECTION TYPE D	14	EA	\$148.00	\$2,072.00	\$0.00	\$0.00
628.7570	ROCK BAGS	50	EA	\$16.50	\$825.00	\$0.00	\$0.00
629.0210	FERTILIZING, TYPE B	3	CWT	\$250.00	\$750.00	\$0.00	\$0.00

					1		
630.0130	SEEDING, MIXTURE NO. 30	80	LB	\$21.00	\$1,680.00	\$0.00	\$0.00
630.0500	SEED WATER	2	MGAL	\$100.00	\$200.00	\$0.00	\$0.00
634.0811	POSTS TUBULAR STEEL 2x2-INCH x 11-FT	14	EA	\$315.00	\$4,410.00	\$0.00	\$0.00
634.0812	POSTS TUBULAR STEEL 2x2-INCH x 12-FT	14	EA	\$320.00	\$4,480.00	\$0.00	\$0.00
637.2210	SIGNS TYPE II REFLECTIVE H	190	SF	\$24.86	\$4,723.40	\$0.00	\$0.00
637.2230	SIGNS TYPE II REFLECTIVE F	32	SF	\$25.92	\$829.44	\$0.00	\$0.00
638.2102.S	MOVING SIGNS TYPE II	2	EA	\$65.00	\$130.00	\$0.00	\$0.00
638.2602.S	REMOVING SIGNS TYPE II	54	EA	\$35.00	\$1,890.00	\$0.00	\$0.00
638.3000.S	REMOVING SMALL SIGN SUPPORTS	27.00	EA	\$35.00	\$945.00	\$0.00	\$0.00
642.5001.S	FIELD OFFICE TYPE B	1.00	EA	\$7,500.00	\$7,500.00	\$0.00	\$0.00
643.5000.S	TRAFFIC CONTROL	1	LS	\$8,900.00	\$8,900.00	\$0.00	\$0.00
645.0135	GEOTEXTILE TYPE SR	18,587	SY	\$3.00	\$55,761.00	\$0.00	\$0.00
646.1020	MARKING LINE EPOXY 4-INCH	7,451.0	LF	\$1.50	\$11,176.50	\$0.00	\$0.00
646.3020	MARKING LINE EPOXY 8-INCH	648.0	LF	\$15.00	\$9,720.00	\$0.00	\$0.00
646.6120	MARKING STOP LINE EPOXY 18-INCH	75	LF	\$17.00	\$1,275.00	\$0.00	\$0.00
646.7020	MARKING DIAGONAL EPOXY 6-INCH	1,128	LF	\$14.00	\$15,792.00	\$0.00	\$0.00
646.8020	MARKING CORRUGATED MEDIAN EPOXY	180	SF	\$9.00	\$1,620.00	\$0.00	\$0.00
646.8300	MARKING PARKING STALL	748	LF	\$6.50	\$4,862.00	\$0.00	\$0.00
646.8120	MARKING CURB EPOXY	3,203	LF	\$7.00	\$22,421.00	\$0.00	\$0.00
652.0225.S	CONDUIT RIGID NONMETALLIC SCHEDULE 40 2-INCH	1,586	LF	\$10.00	\$15,860.00	\$0.00	\$0.00
652.0325.S	CONDUIT RIGID NONMETALLIC SCHEDULE 80 2-INCH	250	LF	\$13.00	\$3,250.00	\$0.00	\$0.00
652.0340.S	CONDUIT RIGID NONMETALLIC SCHEDULE 80 4-INCH	234	LF	\$24.00	\$5,616.00	\$0.00	\$0.00
652.0625	CONDUIT SPECIAL 4-INCH	120	LF	\$36.00	\$4,320.00	\$0.00	\$0.00
652.0800	CONDUIT LOOP DETECTOR	144	LF	\$6.00	\$864.00	\$0.00	\$0.00
653.0105	PULL BOXES STEEL 12x24-INCH	7	EA	\$525.00	\$3,675.00	\$0.00	\$0.00
653.0135	PULL BOXES STEEL 24x36-INCH	6	EA	\$1,250.00	\$7,500.00	\$0.00	\$0.00
654.0103.S	CONCRETE BASE	18	EA	\$1,750.00	\$31,500.00	\$0.00	\$0.00
655.0610	ELECTRICAL WIRE LIGHTING 12 AWG TRACER WIRE	374	LF	\$0.65	\$243.10	\$0.00	\$0.00
655.0620	ELECTRICAL WIRE LIGHTING 8 AWG	9,067	LF	\$1.50	\$13,600.50	\$0.00	\$0.00
655.0635	ELECTRICAL WIRE LIGHTING 2 AWG	2,688	LF	\$3.00	\$8,064.00	\$0.00	\$0.00
655.0700	LOOP DETECTOR LEAD IN CABLE	189	LF	\$1.50	\$283.50	\$0.00	\$0.00
655.0800	LOOP DETECTOR WIRE	749	LF	\$0.65	\$486.85	\$0.00	\$0.00
657.0255.S	TRANSFORMER BASES BREAKAWAY 11 1/2-INCH BOLT CIRCLE	18	EA	\$470.00	\$8,460.00	\$0.00	\$0.00
	POLES TYPE 6-ALUMINUM	18	EA			\$0.00	
657.0327.S	I OLLO I I CE O-ALUMINUM	18	EA	\$2,585.00	\$46,530.00	\$0.00	\$0.00

			1			i i	II 1
657.0605.S	LUMINAIRE ARMS SINGLE MEMBER 4 1/2-INCH CLAMP 4-FT	33	EA	\$340.00	\$11,220.00	\$0.00	\$1
659.1120.S	LUMINAIRES UTILITY LED B	33	EA	\$439.00	\$14,487.00	\$0.00	\$1
690.0150	SAWING ASPHALT	977	LF	\$1.55	\$1,514.35	\$0.00	\$1
690.0250	SAWING CONCRETE	669	LF	\$2.25	\$1,505.25	\$0.00	\$6
690.0251	SAWING CONCRETE SIDEWALK	189	LF	\$2.55	\$481.95	\$0.00	\$
SPV.0135.01	HANDWASHING STATION	5	MON	\$350.00	\$1,750.00	\$0.00	\$
NS3	GEOGRID	18,587	SY	\$0.75	\$13,940.25	\$0.00	s
NS4	STORM SEWER CONNECTIONS	9	EA	\$350.00	\$3,150.00	\$0.00	\$
NS5	ADJUSTING WATER VALVE BOX	8	EA	\$250.00	\$2,000.00	\$0.00	\$
NS6	CONCRETE PLANTERS	6	EA	\$1,350.00	\$8,100.00	\$0.00	9
NS7	DECORATIVE FENCE	467	LF	\$67.00	\$31,289.00	\$0.00	
NS8	REMOVING EXISTING POLE, LUMINAIRE AND BASE	17	EA	\$550.00	\$9,350.00	\$0.00	
NS9	PATCH EXISTING CORE HOLES	2	EA	\$150.00	\$300.00	\$0.00	4
NS10	STOP SIGN SET	2	EA	\$3,500.00	\$7,000.00	\$0.00	\$
NS18	REMOVING EXISTING LUMINAIRE AND ARM	4	EA	\$250.00	\$1,000.00	\$0.00	9
se Bid Total					\$2,517,897.89	\$0.00	\$0.00